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POLITICAL SCIENCE

( Honours )

Paper : POL-HC-1016

( Understanding Political Theory )
Full Marks : 80

Time : 3 hours

The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese
1. Answer the following as directed (any ten) :

1x10=10
oo TR Fos sl Set e (R et weo)

(a) Who is known as the father of political
science?

FENE R@E T=F o FIF TR ]2

(b) “Man is born free and everywhere he is
in chain”—said by Aristotle/Hobbes/

Locke/Laski.

i FI8 02 T =H; Y TS R ety
TF 7 G2 IR IRE GRG0 AT/
R | | |

( Choose the correct option )

( w7 S6I0! 3R Sfreat )
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(c)

(d)

(e)

(g)

h)

A23/449

(2)

The behavioural approach to the study
of political science was originated in
UK/USA/France/India.

IS R R Qe S1E ke
AES /RIS /Fivs /slges|

( Choose the correct option )

(W% Tet AR Sfereat )

Legitimate power is called as
( Fill in the blank )

RO 3 @R
(AR 52 o7 T4 )

Feminism is a protest against what?

TR R R w@9

Name one supporter of post-modernism.

CEI-SIFRFORIA q& AR AN et |

In ancient Greece, City-State was called

.
—_—

( Fill in the blank )

b five TR-APHT @Rl e
(4R 2 o7 T )

Name one liberal theorist.

5 S o A B

( Continued )

(i) What is Liberalism opposed to?
oA @ faafret ¢?

(i) Totalitarianism

e

(i) Authoritarianism

FERIA

(iii) Socialism

RRIC I

(iv) All of the above

0)

A23/449

@Y Al

( Choose the correct option )

( wF eI A Sfrear )

Marxism regards State as a
i e R 3 Si?
(i) Natural institution
AT AT
(ii) Social institution
A A

(iij) Class institution

It AR

(iv) Welfare institution

TR "

( Choose the correct option )

(ww TEIm AR Sfersat )

( Turn Over )



(k)

()

(m)

A23/449

(4)

Which one of the following is not a
normative approach?

S IR SRS /SsITe (Re TR

(i) Philosophical approach
i el

(i) Legal approach
SR 4l

(iii) Systems approach
RS Yl

(iv) Institutional approach
TS QN

( Choose the correct option )

( ®m el AR Sfersat )

Name one post-behaviouralist.

qEw TG3-SIBRRIA A forat |

Ma::y Wollstonecraft is a liberal/radical
feminist,

S
A= =i | e
( Choose the correct option )

( @7 Teatht Ay Sfereat )

( Continued )

(n)

(0)

(v)

A23/449

( 5)

“Democracy is a government in which
everyone has a share.” Who said this?

“opereg T20E Gl bl HAGIA) “f@w 1T AGATA
GeRiqy Sz |7 FARA (BT (F=?

(i) Abraham Lincoln
Q@ e

(ii) Dicey
o2

(i) Seeley
e

(iv) Bryce
3l

( Choose the correct option )

(o Taan Ak SfAsd )

Who is the author of the book,

The State and Revolution?
The State and Revolution w9 IFIFI

[HIGA FIH?

Name one scholar of participatory

democracy.

GHAZITETS SITOF 9o ANYFY W |

( Turn Over )



Q)

(r)

Who wrote the book, Leviathan?
Leviathan W AR EHE CPIH?
Mention any one feature of behaviour-

alism.
SR R @I bt @Yy S 9

2. Answer very briefly/Write short notes on any

five of the following :

2x5=10

ee Sad P/ ooTs frpR R et bR o
oY GRel forl

(a)

(b)

(c)

(d)

(e)

A23/449

Mention two scopes of political science.
IS Ry pr ARR St F4|

What is the first wave of feminism?

AR a9 @ B2

Name two proponents of libertarianism.

oM & LT A |

Bring out the sex-gender distinctions.

e et % IR PR S PR
forat |

Historical materialism

( Continued )

)

)

()

0)

. Write short notes on any fou

(7))

Did p()st—behaviouralism reject behav-

iouralism?

Saq-spaaly  Sipaame AL zfafes
a7

What was the central thrust of
enlightenment project?
Wuﬁﬂ?ﬁ{aawmfwﬁsmﬁa?

Mention two major devices of direct
democracy.

oo e B T @ 2

What is First Past the Post method?

o AR @ e 62

Michel Foucault

e @5

rof the following :
5x4=20

mﬁﬂmﬁmmﬁ%ﬁevﬁwwmm:

(@) Class struggle

A23/449

i FRAIS
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(b) Elements of post-modernism
4. Answer any four of the following questions :

TeT-fATerm AR 10%4=40

oS fl e i G BifeE Ted A
(c) Challenges to the idea of democracy

AL W AR \ (a) Define political theory. Discuss its main
! features and dimensions. 3+7=10

e ©gq k@ ol | 3ua g 3 e =
PrTET 89S ST 41 |

(d) Behavioural revolution

HHIRME Rog |
oo , (b) What is liberalism? Make a comparative
(e) Participation and representation in analysis of classical and modern
democracy | liberalism. 3+7=10
TGS A WIF iRy | TaRam 7 s SiE S S

@B PEINE Y Al @l |

(9 Features of historical approach |
(c) Attempt a critical appraisal of libertar-

LSEis 2“1‘\'@1’1‘& ! ianism and explain its key ideas. 10
| T eiTs @Bl WGBS 0
(99 Marx on democracy | SRR SF 39 24 g[apTR. forxt |

NTOFI 8T Tf it
(d) Describe Marxist view of political
. ) theory. How does it reject the liberal
(h)  Traditiona] view on politics view? 6+4=10

Wemmﬁ@m FoAfer ©g@ AN GRS 3dw )
A23/449 R @EAT THRMS ST A 2

( Continued )
A23/449 ( Tumn Over )



(e)

(9)

(h)

A23/449

(10 )

What is an approach? What are the
traditional and modern approaches to
political theory? 2+8=10

YRR 3 R {7 ARAST T AT |
iF S EeR 5 757 -

Critically examine the main features of
feminism. What are the differences
between liberal feminism and radical
feminism? 5+5=10

MR A4 RRPE WEINR qRE |
oAfwl T TR AW W SR |
TR e ANy & {2 s

What is post-modernism? What are its
salient features? 4+6=10

Ter-apferm 57 W ouw  aRRpR
& &2

Discuss the concept of democracy. Do
you think India is a successful model
of democracy? Explain. 5+5=10

slfegd 4RANG! WCEoAl F4 | SRERT
SHTogd Toe RO SR ? JRM T4 |

( Continued )

(¥

0)

A23—11*/449

(11 )

What is the deliberative theory of
democracy? Discuss its key features.
4+6=10

AT S 9 52 T 3 WP
ST < |

Examine the principles of procedural
democracy and discuss the case of
procedural democracy Vs. substantive
democracy. 5+5=10

afFTe @ EroTe seregd AfeTR AT
= F AT seg A @ o ToFd
@IS TG 341 |

* Kk ok
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